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Introduction  
The RACH occasion (RO) selection rule has been agreed and introduced to select a RO with randomly with equal probability associated to the selected SSB in the previous RAN2-AH meeting on July as captured in below [1]:
	R2-1809783	On RO selection during RACH procedure	Intel Corporation	discussion	Rel-15	NR_newRAT-Core
Moved here from 10.3.1.4.2
In case of a single SSB corresponding to multiple consecutively mapped ROs, the UE shall select a RO randomly with equal probability associated to the selected SSB.


And the corresponding rapporteur CR has been also agreed as following:
	R2-1810788	Correction to RO selection procedure	Intel Corporation	CR	Rel-15	38.321	15.2.0	0214	1	F	NR_newRAT-Core
· Ericsson wonders whether consecutive is clear 
Agreed in principle


The intention to agree above is to clarify the RO selection rule in time domain when RACH resource is configured such that multiple consecutive ROs in time domain are associated with a single SSB.  Accordingly, it has been clarified that how UE chooses from the multiple ROs in the time domain, in addition to that of frequency domain which is also relied on the random selection among multiple ROs in the frequency domain associated to a single SSB.
However, we have found that there is a miss alignment in current RAN1 specification. 
In this contribution, we seek to fix this miss alignment and present our view.
Discussion
As discussed earlier, in case of certain RACH configurations, when multiple ROs in the time domain are mapped to the same SSB, i.e. ssb-perRACH-Occasion < 1 and msg1-FDM =1, the current agreed rapporteur CR does specify random RO selection rules. However, the following RAN1 specification related to this issue is described as following:
	TS38.213 8.1 Random access preamble
…



If a random access procedure is initiated by a PDCCH order, the UE, if requested by higher layers, transmits a PRACH in the first available PRACH occasion for which a time between the last symbol of the PDCCH order reception and the first symbol of the PRACH transmission is larger than or equal to  msec, where  is a time duration of  symbols corresponding to a PUSCH preparation time for PUSCH processing capability 1 [6, TS 38.214], [image: ] if the active UL BWP does not change and [image: ] is defined in [10, TS 38.133] otherwise, and [image: ] msec for FR1 and [image: ] msec for FR2. For a PRACH transmission using 1.25 kHz or 5 kHz subcarrier spacing, the UE determines [image: ] assuming subcarrier spacing configuration [image: ].


That means whenever a SSB index in PDCCH order is signaled to a UE, the UE is always to select the first available RO among the corresponding ROs associated to the SSB index in the time domain. Accordingly, it is not aligned to what RAN2 agreed on the RO selection if a single SSB is associated to the multiple ROs in time domain. So, we have to fix it in RAN1 specification.
Our text proposal is following:
	Text proposal:
TS38.213 8.1 Random access preamble
…



If a random access procedure is initiated by a PDCCH order, the UE, if requested by higher layers, transmits a PRACH in the selected PRACH occasion, as described in [5.1.2, TS 38.321] for which a time between the last symbol of the PDCCH order reception and the first symbol of the PRACH transmission is larger than or equal to  msec, where  is a time duration of  symbols corresponding to a PUSCH preparation time for PUSCH processing capability 1 [6, TS 38.214], [image: ] if the active UL BWP does not change and [image: ] is defined in [10, TS 38.133] otherwise, and [image: ] msec for FR1 and [image: ] msec for FR2. For a PRACH transmission using 1.25 kHz or 5 kHz subcarrier spacing, the UE determines [image: ] assuming subcarrier spacing configuration [image: ].



Proposal 1:	It is proposed to adopt above text proposal to reflect the RAN2 agreement.
Conclusion
This contribution discusses the case of RO selection for the case of multiple ROs mapped to a single SSB and makes the following proposal: 
Proposal 1:	It is proposed to adopt above text proposal to reflect the RAN2 agreement.
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